
https://www.pass4itsure.com/c2090-304.html
2024 Latest pass4itsure C2090-304 PDF and VCE dumps Download

 

 

 

C2090-304Q&As

IBM InfoSphere QualityStage v9.1 Solution Developer

Pass IBM C2090-304 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.pass4itsure.com/c2090-304.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by IBM Official
Exam Center

 

 

Latest C2090-304 Dumps | C2090-304 PDF Dumps | C2090-304 VCE Dumps                                1 / 3

https://www.pass4itsure.com/c2090-304.html
https://www.pass4itsure.com/c2090-304.html
https://www.pass4itsure.com/c2090-304.html


https://www.pass4itsure.com/c2090-304.html
2024 Latest pass4itsure C2090-304 PDF and VCE dumps Download

QUESTION 1

You are using the Match Designer with a One-source match specification. You have attempted to configure the match
specification test environment and received an error when you selected \\'Update\\'. What is the most likely cause of the
problem. 

A. The \\'Configuration File Location\\' is blank. 

B. The \\'Maximum Frequency Value\\' is blank. 

C. The \\'Data Sample Data Set\\' is not a Data Set. 

D. The Test Results Database\\' is not a defined connector. 

Correct Answer: B 

 

QUESTION 2

Which statement would NOT be a purpose for the matching process? 

A. Creating the best record in the group. 

B. Reconciling inventory or transactions. 

C. Locating entities in a data warehouse. 

D. Grouping records with the same or similar values, such as householding. 

Correct Answer: B 

 

QUESTION 3

When building a field level survivorship routine and the same business rule applies to all address columns, what is the
most efficient way to do this? 

A. Move all of the address columns to the target field and define a single rule. 

B. You must use the complex survive expression identifying each address field. 

C. Because logic is being applied at the field level all fields need to have a rule defined. 

D. Apply the survivorship rule directly to the available columns and not to the target column. 

Correct Answer: B 

 

QUESTION 4

Which statement is true regarding Quality Stage data survivorship? 
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A. Survivorship is used to create groups of duplicate records. 

B. The Survive stage is used to mark records as possible duplicates. 

C. The Survive stage is used after matched record groups have been identified. 

D. The Survive stage can be used to correct and identify unhandled data from the Standardize stage. 

Correct Answer: C 

 

QUESTION 5

You need to create a batch delta match process for transaction records against a very large master file of existing
clients. 

Which QualityStage match option should be used? 

A. Transitive One-source match 

B. Two-source many-to-one match 

C. Deterministic One-source match 

D. Two-source many-to-many match 

Correct Answer: A 

Latest C2090-304 Dumps C2090-304 PDF Dumps C2090-304 VCE Dumps

Powered by TCPDF (www.tcpdf.org)

Latest C2090-304 Dumps | C2090-304 PDF Dumps | C2090-304 VCE Dumps                                3 / 3

https://www.pass4itsure.com/c2090-304.html
https://www.pass4itsure.com/c2090-304.html
https://www.pass4itsure.com/c2090-304.html
http://www.tcpdf.org
https://www.pass4itsure.com/c2090-304.html
https://www.pass4itsure.com/c2090-304.html
https://www.pass4itsure.com/c2090-304.html

